
Yij ∼ Beta(µδ, (1− µ)δ)

logit(µ) = log(
µ

1− µ
) = α+Xijβ + θj

Y is the response (forest cover), X is the covariate (precipitation), for the
ith observation in the jth site.

θj are site-level deviations from the overall intercept. These are drawn
from a normal distribution with variance τ .

θj ∼ N ormal(0, 1000)

α is the intercept, β is the slope (all on the logit scale). δ is a parameter
controlling the dispersion (variance) around the mean. These (and τ) are
all parameters which have vague priors, and are estimated by MCMC.

α ∼ N ormal(0, 1000)

β ∼ N ormal(0, 1000)

τ ∼ Gamma(0.01, 0.01)

δ ∼ Gamma(0.01, 0.01)
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